OO0 gupiaozhishiba.com

Jbobogtbbbtotdtbottdbootdbototdun
Jgubooogudootd-otdd

Joogoogouodoooboon

NO =50
HSO =V/CAPITAL*1000
COUNT(HS&gtO

=3 AND HS&It0

=70 N)=NT
00oo0o00o0oon

ogbgboogogodbodgod

ogdobbbogogoooo=t0oobitdx100+ D00goooooon
oddobbbuodgoooobbugooooobbogooda
oodobbbudggouoobbuoooooobbgoooooobbod
ogdobbboggooooobuoggoooobbogd

Jooboogoodotdotdbtobooboobooogogn

Jobdobuooboobouobougoogd
JO00duoboiboooood22. 7300000025420 0 0O 0O O O 25420000+ 2273
000000=0.0112=1.12%

Joogoogodod

000350000 00000 hhanshou0 000000000 0o0ooOOn
Joogobbooouobboobobooobobooboboobuobobd
Jobogobuoooboobtuobobtoobuobboobuobbooboga

0o1/5



OO0 gupiaozhishiba.com

Joodobouoobooogd

bbbt boobouoboboooga
oot btobouobboobuobboooga
ooogo
Jobogobobooobooobouobobboobouobboobouoboboooga
googd
Joogobboooboobuobobtoobuobboobuobboooga
Joogoboooobtoobuobobtoobuobboobuobbooboga
OnOO0oooogotnd

‘oo oot gooooobbbouooooobbouooooon
ogoooobogd
DoOo0o0obooobbooboboobobbooobbooobo/obDbobooobx
10000 O

bbb obouoboboobouobobd
oo oobuobboo
oougoogd
Jobodobboobuobuoobooobobooobooon
ogjguuububobuoguououbbuooouobobobbouooouobon
Jobogobuoooboobooobbooon
Joogoboooobtoobuobobtoobuobboobuobbooboga
Joboobboooboooboobn

oo buooooubbbudoooobobbouoao
oodobbbudggouoobbuoooooobbgoooooobbod
oodoooon

oo boobuoboboonogao
Joodgouoobgon
Adbugobouobuobobtuobuobobuobouobobuobuoobbd
Jobodoboboobtoobuobbbobuobboobuobbooboga
Joooobuoobooogag
sUbboobboobouoobuobboobuobboobuoboobobd
Joboggbobooboobboobuooboboon
Joogoboooobtoobuobobtoobuobboobuobbooboga
googd
eluuuunbudggoooibbgoooooobnouoooooon
ogdobbbodogooobobuoggoooon
oddobobbudggoobbbooooooobbbuooooobbod
oo uooboood

oo2/5



OO0 gupiaozhishiba.com

Jooboogogouodod

ooduobobibx 100+ DO OoOogogooor22u0 b bz2014000
Jolidouguuoob3iuuidoiiuioddnniie420x 100
+ 391000000= 0.5001

goooogg

O/000000000000000b0O000b0b0oooboogooboo*xoon
obogobbooobtoobboobobtoobuobboobuobbooboua
OoOo/0oooo*xwooooooodobooobooooboooooogon
ogdobobbodggooobbudoooobbbouooooon
ogdobbbudogoobbbuoooobobbogogseeo gaais
oibbtuoboboobuobuobobobuobboobouobuoobd
Jobodgobooboggoanabbgoougoboobouobbdn 2%
D000D000000000033%0 0 750/2250%100%=33%0 0 00000000
Jobogobuoboboobouobouoooogd

googoogogd

Joogobooobtoobtuobobtbobouobboobuobboooua
Joogg.ouoobotoobuooobogd

Joboogobboobogbobgd
Joddobbbudggouobobbuooooboobbgoooooobbod
ogdobbbodgooo bgoooobobbouooooobbogn
ogdobobbudggooobbuoooooobboooooobbod
oodobbbodggoobbbooooooobbbooooooobbod
bbb oo oobouobobooo
oot bbobouobboobuobboonoga
Joodooooostwdduooboooooouoooouoo3agoon
g2 0o ouonowdiogioon
il oo ooouoooooon
Joogobooobtoobtuobobtbobouobboobuobboooua
Joogobboooboobuobobtoobuobboobuobboooga

0o 3/5



OO0 gupiaozhishiba.com

oo boobuoboboonogao
Jooggobooougon

Doooogokildbdiodbogboguoogogd

Jogdobbobbooooooleobboooon.

Jogbogoooogogn

“ 000" 00 0007 000000000000 000000000000
0000000000000

0000000 000@DO0)0@OO00000000)(000000)x100%
00000000000000D02000000000000000
D00000D000000000O20%0

00000000000 0000000000000000000000000
00000000000 0000000000000000000000000
00ooooDooo
0000000000000000000000D0200000000000 0100%
0

00000000000 0000000000000000000000000
000

??7?7?

?27?272727?27°272727272727?7?. pdf

0o4/5


/neirong/TCPDF/examples/output.php?c=/chapter/24336514.html&n=区间换手率怎么计算的.pdf
/author/7380.html
/book/7980.html
/book/9449.html
/neirong/TCPDF/examples/output.php?c=/chapter/24336514.html&n=区间换手率怎么计算的.doc
https://www.baidu.com/s?wd=%E5%8C%BA%E9%97%B4%E6%8D%A2%E6%89%8B%E7%8E%87%E6%80%8E%E4%B9%88%E8%AE%A1%E7%AE%97%E7%9A%84

OO0 gupiaozhishiba.com

P29222222222222222222222727272?

htt ps: //www. gupi aozhi shi ba. coni chapt er/24336514. ht i

0os5/5


https://www.gupiaozhishiba.com/chapter/24336514.html
http://www.tcpdf.org

